

František Neuman

Smoothness as an invariant property of coefficients of linear differential equations

Czechoslovak Mathematical Journal, Vol. 39 (1989), No. 3, 513–521

Persistent URL: <http://dml.cz/dmlcz/102323>

Terms of use:

© Institute of Mathematics AS CR, 1989

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://dml.cz>

SMOOTHNESS AS AN INVARIANT PROPERTY
OF COEFFICIENTS OF LINEAR DIFFERENTIAL EQUATIONS

FRANTIŠEK NEUMAN, BRNO

(Received December 22, 1987)

Dedicated to Academician Otakar Borůvka with best wishes on his 90th birthday

1. INTRODUCTION

Each ordinary homogeneous second order linear differential equation

$$y'' + p_1(x) y' + p_0(x) y = 0,$$

where p_1 and p_0 are real continuous functions on an (open) interval $I \subset \mathbb{R}$, can be transformed on the whole interval I by means of a transformation of the form

$$(1) \quad z(t) = f(t) y(h(t))$$

into the same type of equation with (real) analytic coefficients, in particular, into the equation

$$z'' + z = 0$$

on a suitable interval $J \subset \mathbb{R}$, see [1].

A natural question arises whether for a given ordinary homogeneous linear differential equation of the n -th order

$$(2) \quad y^{(n)} + p_{n-1}(x) y^{(n-1)} + \dots + p_0(x) y = 0, \quad p_i \in C^0(I),$$

$i = 0, \dots, n - 1$, a transformation exists which converts this equation into an equation of the same type with more regular coefficients, e.g., belonging to C^k for some $k > 0$, or $k = \infty$ (infinitely differentiable functions), or even $k = \omega$ (real analytic functions).

The above result for the second order equations is misleading in some respect. We shall prove, e.g., that the smoothness of the coefficient p_{n-1} in (2) cannot be improved by a transformation if $p_{n-1} \in C^k(I) \setminus C^{k+1}(I)$ and $k < n - 2$ (the number k is invariant), whereas if $k = n - 2$ then after a suitable transformation the transformed coefficient can be even (real) analytic. Of course, for $n = 2$ this critical case occurs for the class $C^0 (= C^{n-2})$.

II. NOTATION, DEFINITIONS AND SOME BASIC FACTS

In 1892 P. Stäckel [5] proved that under certain regularity conditions the form (1) is the most general pointwise transformation that converts the set of all solutions of every linear differential homogeneous equation of the n -th order ($n \geq 2$) into the set of all solutions of an equation of the same type, i.e.,

$$(3) \quad z^{(n)} + q_{n-1}(t) z^{(n-1)} + \dots + q_0(t) z = 0, \quad q_i \in C^0(J), \quad i = 0, \dots, n-1.$$

M. Čadek in [2] has proved the same assertion under a weaker assumption involving only continuity instead of differentiability.

However, for our purpose, we shall need the following result that guarantees a certain smoothness of the functions f and h in (1) if only one equation of the type (2) is transformed by means of (1) into an equation (3).

Lemma 1 (see [4]). *Let n be an integer, $n \geq 2$, and let $I \subset \mathbb{R}$, $J \subset \mathbb{R}$ be open intervals. Suppose $y_i: I \rightarrow \mathbb{R}$, and $z_i: J \rightarrow \mathbb{R}$, $i = 1, \dots, n$, are two n -tuples of linearly independent solutions of equations (2) and (3), respectively.*

Let

$$z_i(t) = f(t) y_i(h(t)), \quad t \in J, \quad i = 1, \dots, n,$$

be satisfied for real continuous functions f and h defined on J such that $h(J) = I$.

Then

$$(4) \quad \begin{aligned} f &\in C^n(J), \quad f(t) \neq 0 \quad \text{for all } t \in J, \\ h &\in C^n(J), \quad dh(t)/dt \neq 0 \quad \text{for all } t \in J, \\ \text{i.e., } h &\text{ is a } C^n\text{-diffeomorphism of } J \text{ onto } I. \end{aligned}$$

With respect to the above mentioned results it is reasonable to say that (1) globally transforms the equation (2) into the equation (3) if f and h satisfy (4), and for each solution $y: I \rightarrow \mathbb{R}$ of (2) the function $z: J \rightarrow \mathbb{R}$ given by (1) is a solution of (3), cf. [3].

Lemma 2 (see e.g. [6]). *Let (1) globally transform (2) into (3). Then the following identities hold:*

$$(5) \quad q_{n-1}(t) = p_{n-1}(h(t)) h'(t) - n f'(t)/f(t) - \binom{n}{2} h''(t)/h'(t),$$

and

$$(6) \quad \begin{aligned} q_{n-2}(t) &= \binom{n+1}{3} \left(\frac{1}{2} h'''/h' - \frac{3}{4} h''^2/h'^2 \right) + (p_{n-2}(h) - \frac{n-1}{2n} p_{n-1}^2(h)) h'^2 + \\ &+ \frac{n-1}{2} p_{n-1}(h) h'' + \frac{n-1}{2n} q_{n-1}^2 + \frac{n-1}{2} (p_{n-1}(h) h' - q_{n-1})', \end{aligned}$$

$$h = h(t), \quad t \in J.$$

Corollary 1. If $p_{n-1} = 0$ on I then $q_{n-1} = 0$ on J if and only if

$$(7) \quad f(t) = c|h'(t)|^{(1-n)/2}, \quad t \in J,$$

$c = \text{const.} \neq 0$.

If $p_{n-1} = 0$ on I and $q_{n-1} = 0$ on J , then

$$q_{n-2}(t) = \left(\frac{n+1}{3} \right) \left(\frac{1}{2} h'''(t)/h'(t) - \frac{3}{4} h''^2(t)/h'^2(t) \right) + \\ + p_{n-2}(h(t)) h'^2(t),$$

$t \in J$.

Proof is a direct consequence of relations (5) and (6).

III. AUXILIARY RESULTS

Lemma 3. Let $n \geq 2$ be an integer, and let

$$(1) \quad z(t) = f(t) y(h(t)),$$

where $z \in C^n(J)$, $y \in C^n(I)$, the functions f and h satisfy

$$f \in C^r(J), \quad f(t) \neq 0 \text{ on } J,$$

$$h \in C^r(J), \quad dh(t)/dt \neq 0 \text{ on } J, \quad h(J) = I, \quad \text{and } r \geq n.$$

Then

$$y(x) = A_{00}z(k(x)),$$

$$y'(x) = A_{10}z(k(x)) + A_{11}z'(k(x)),$$

$$y''(x) = A_{20}z(k(x)) + A_{21}z'(k(x)) + A_{22}z''(k(x)),$$

...

$$y^{(i)}(x) = A_{i0}z(k(x)) + A_{i1}z'(k(x)) + \dots + A_{ij}z^{(j)}(k(x)) + \dots + A_{ii}z^{(i)}(k(x)),$$

...

$$y^{(n)}(x) = A_{n0}z(k(x)) + A_{n1}z'(k(x)) + \dots + A_{nn}z^{(n)}(k(x)),$$

where k is the inverse function to h and A_{ij} , $0 \leq i \leq n$, $0 \leq j \leq i$, are rational expressions in f and h and their derivatives, such that $x \mapsto A_{ij}(x)$ are functions of the class $C^{r-(i-j)-1}(I)$ for $j > 0$, and $C^{r-i}(I)$ for $j = 0$. Moreover, at most the $(i-j)$ th order of the derivatives of f occurs in A_{ij} , and $A_{ii}(x) \neq 0$ for all $x \in I$ and i , $0 \leq i \leq n$.

Proof. From (1) we have $y(x) = 1/f(k(x)) z(k(x))$, thus $A_{00} = 1/f(k) \in C^r(I) = C^{r-i}(I)$ for $i = 0$ and $j = 0$. Also $A_{00}(x) \neq 0$ on I and A_{00} contains no derivatives of f . Further,

$$y'(x) = A'_{00}(x) z(k(x)) + A_{00}(x) k'(x) z'(k(x)), \quad \text{or}$$

$$y'(x) = A_{10}(x) z(k(x)) + A_{11}(x) z'(k(x)),$$

where

$$A_{10} \in C^{r-1}(I) = C^{r-i}(I) \quad \text{for } i = 1 \text{ and } j = 0, \quad \text{and}$$

$$A_{11} \in C^{r-1}(I) = C^{r-(i-j)-1} \quad \text{for } i = 1 \text{ and } j = 1.$$

Also $A_{11}(x) \neq 0$ on I and A_{1i} contains derivatives of f of orders $\leq 1 - i$, $i = 0, 1$.

Proceeding by induction, suppose that

$$y^{(i)}(x) = A_{i0}z(k(x)) + \dots + A_{ij}z^{(j)}(k(x)) + \dots + A_{ii}z^{(i)}(k(x)),$$

$$A_{ij} \in C^{r-(i-j)-1}(I) \text{ for } j > 0,$$

$$A_{i0} \in C^{r-i}(I) \text{ } A_{ii}(x) \neq 0 \text{ on } I, \text{ and}$$

$$A_{ij} \text{ contains derivatives of } f \text{ of orders } \leq i - j, \quad 0 \leq j \leq i < n.$$

Then

$$\begin{aligned} y^{(i+1)}(x) &= A'_{i0}z(k(x)) + (A_{i0}k' + A'_{i1})z'(k(x)) \\ &\quad + (A_{i1}k' + A'_{i2})z''(k(x)) \\ &\quad + \dots \\ &\quad + (A_{i,j-1}k' + A'_{ij})z^{(j)}(k(x)) \\ &\quad + (A_{ij}k' + A'_{i,j+1})z^{(j+1)}(k(x)) \\ &\quad + \dots \\ &\quad + (A_{i,i-1}k' + A'_{ii})z^{(i)}(k(x)) \\ &\quad + (A_{ii}k')z^{(i+1)}(k(x)) = \\ &= A_{i+1,0}z(k) + A_{i+1,1}z'(k) + \dots + A_{i+1,j}z^{(j)}(k) + A_{i+1,j+1}z^{(j+1)}(k) + \dots \\ &\quad \dots + A_{i+1,i}z^{(i)}(k) + A_{i+1,i+1}z^{(i+1)}(k). \end{aligned}$$

Evidently $A_{i+1,0} \in C^{r-(i+1)}(I)$, and for $j > 0$ we have

$$\begin{aligned} A_{i+1,j} &\in C^{r-(i-(j-1))-1}(I) \cap C^{r-1}(I) \cap C^{r-(i-j)-2}(I) = \\ &= C^{r-(i-j)-2}(I) = C^{r-(i+1-j)-1}(I), \end{aligned}$$

$$\begin{aligned} A_{i+1,j+1} &\in C^{r-(i-j)-1}(I) \cap C^{r-1}(I) \cap C^{r-(i-(j+1))-2}(I) = \\ &= C^{r-((i+1)-(j+1))-1}(I). \end{aligned}$$

Moreover,

$$A_{i+1,j} \text{ contains derivatives of } f \text{ of orders } \leq \max \{i - (j - 1), i - j + 1\} = (i + 1) - j,$$

$$A_{i+1,j+1} \text{ contains derivatives of } f \text{ of orders } \leq \max \{i - j, i - (j + 1) + 1\} = i - j = (i + 1) - (j + 1).$$

Finally, $A_{i+1,i+1}(x) = A_{ii}(x)k'(x) \neq 0$ on I . Q.E.D.

Lemma 4. Let (2) be globally transformed into (3) by means of (1), where f and h satisfy the assumptions of Lemma 3.

Then the coefficients q_i , $i = 0, \dots, n - 1$, of the equation (3) are expressible in the following way:

$$\begin{aligned} (8) \quad (q_n = 1) \\ q_{n-1}(t) &= B_{n-1,n} + B_{n-1,n-1}p_{n-1}(h(t)), \\ q_{n-2}(t) &= B_{n-2,n} + B_{n-2,n-1}p_{n-1}(h(t)) + B_{n-2,n-2}p_{n-2}(h(t)) \\ &\dots \end{aligned}$$

$$\begin{aligned}
q_i(t) &= B_{i,n} + B_{i,n-1}p_{n-1}(h(t)) + B_{i,n-2}p_{n-2}(h(t)) + \dots \\
&\quad \dots + B_{i,j}p_j(h(t)) + \dots + B_{i,i}p_i(h(t)), \\
&\quad \dots \\
q_0(t) &= B_{0,n} + B_{0,n-1}p_{n-1}(h(t)) + \dots + B_{ij}p_j(h(t)) + \dots + B_{0,0}p_0(h(t)),
\end{aligned}$$

where $t \mapsto B_{ij}(t)$ for $0 \leq i \leq n-1$ and $i \leq j \leq n$ are functions of the class $C^{r+i-j-1}(J)$ for $i > 0$ and of the class $C^{r-j}(J)$ for $i = 0$. Moreover, $B_{ii}(t) \neq 0$ on J for all $i = 0, \dots, n-1$ and B_{ij} is expressible in terms of the derivatives of f of orders $\leq j-i$.

Proof. We may write

$$\begin{aligned}
y^{(n)}(x) + p_{n-1}(x)y^{(n-1)}(x) + \dots + p_0(x)y(x) &= \sum_{j=0}^n p_j(x)y^{(j)} = \\
&= \sum_{j=0}^n \sum_{i=0}^j p_j(x)A_{ji}(x)z^{(i)}(k(x)).
\end{aligned}$$

Hence the coefficient $q_i(t)$ of $z^{(i)}$ is

$$q_i(t) = \left(\sum_{j=i}^n A_{ji}(h(t))p_j(h(t)) \right) / A_{mm}(h(t)).$$

Thus

$$B_{ij}(t) = A_{ji}(h(t)) / A_{mm}(h(t)).$$

For $i > 0$, $A_{ji} \in C^{r-(j-i)-1}(I)$. Since $h \in C^r(J)$, $r \geq n$, and $A_{mn} \in C^{r-1}(I)$, $A_{mn}(x) \neq 0$ for $x \in I$, we have $B_{ij} \in C^{r-(j-i)-1}(J)$. For $i = 0$, $A_{j0} \in C^{r-j}(I)$, hence $B_{0j} \in C^{r-j}(J)$ for $j = 0, \dots, n$. Moreover, $B_{ii}(t) = A_{ii}(h(t)) / A_{mm}(h(t)) \neq 0$ for $t \in J$. Q.E.D.

Lemma 5. For a given $p \in C^{n-2}(I)$ and a positive constant d there exist an interval $J \subset \mathbb{R}$ and a C^{n+1} -diffeomorphism h of J onto I satisfying

$$(9) \quad d = \frac{1}{2} h'''(t) / h'(t) - \frac{3}{2} h''^2(t) / h'^2(t) + p(h(t)) h'^2(t), \quad t \in J.$$

Proof. The relation (9) is the so-called Kummer equation for the second order equations

$$(10) \quad y'' + p(x)y = 0, \quad p \in C^{n-2}(I),$$

and

$$(11) \quad z'' + dz = 0 \quad \text{on } J \quad (d \in C^\omega(J)),$$

see also Corollary 1. According to O. Borůvka [1], a solution h of (9) satisfying $h(J) = I$, $h \in C^3(J)$, $dh(t)/dt \neq 0$ on J , exists if and only if the equations (10) and (11) are of the same character. This can be always achieved for any constant $d > 0$, when a suitable interval $J \subset \mathbb{R}$ is taken. Then all such solutions h are obtained as compositions of the so-called phases and their inverses of the equations (10) and (11). These phases are expressible as anti-derivatives of the expressions

$$(y_1^2(x) + y_2^2(x))^{-1} \quad \text{and} \quad (z_1^2(t) + z_2^2(t))^{-1},$$

where y_1, y_2 and z_1, z_2 are linearly independent solutions of the equations (10) and (11), respectively. Hence these phases are of the classes $C^{n+1}(I)$ and $C^\omega(J)$, respectively, and $h \in C^{n+1}(J)$. Q.E.D.

IV. MAIN RESULTS

Theorem 1. *Let $n \geq 2$ be an integer, and let a transformation (1) globally transform (2) into (3).*

If $p_{n-1} \in C^k(I) \setminus C^{k+1}(I)$ for $0 \leq k \leq n-3$, then $q_{n-1} \in C^k(J) \setminus C^{k+1}(J)$, i.e. this k is an invariant with respect to transformations (1).

If $p_{n-1} \in C^k(I)$, $k \geq n-2$, then there exists a transformation (1) with $f, h \in C^{k+2}(J)$ that globally transforms (2) into (3) with $q_{n-1} \in C^\omega(J)$, especially with $q_{n-1} = 0$ on J .

If $p_{n-1} \in C^k(I)$ and $p_{n-2} \in C^{k-1}(I)$, $k \geq n-1$, then (2) can be transformed into (3) with $q_{n-1} = 0$ on J and $q_{n-2} \in C^{k-1}(J)$.

Proof. Let $p_{n-1} \in C^k(I)$ for $0 \leq k \leq n-3$. Since $f'/f \in C^{n-1}(J)$ and $h''/h' \in C^{n-2}(J)$ according to Lemma 1, the relation (5) gives $q_{n-1} \in C^s(J)$, where $s = \min\{k, n-2\} = k$. However, if $p_{n-1} \in C^{k+1}(I)$ for $0 \leq k \leq n-3$ then $q_{n-1} \in C^{k+1}(J)$. In fact, if $q_{n-1} \in C^{k+1}(J)$ then

$$p_{n-1}(x) = \frac{1}{h'(t)} \left(q_{n-1}(t) + n f'(t)/f(t) + \binom{n}{2} h''(t)/h'(t) \right)_{t=h^{-1}(x)}$$

belongs to $C^s(I)$, where $s = \min\{k+1, n-2\} = k+1$, contrary to our assumption.

Now, let $p_{n-1} \in C^k(I)$, $k \geq n-2$. Consider a function q_{n-1} of the class $C^\omega(\mathbb{R})$. Choose also an arbitrary function $f \in C^{k+2}(\mathbb{R})$ satisfying (4) for $J = \mathbb{R}$. According to Lemma 2 we have

$$\binom{n}{2} h''(t)/h'(t) - p_{n-1}(h(t)) h'(t) = -q_{n-1}(t) - n f'(t)/f(t),$$

or

$$h'(t) = c |f(t)|^{(1-n)/2} \exp \left\{ \frac{-2}{n(n-1)} \int_{t_0}^t q_{n-1}(s) ds \right\} \times \exp \left\{ \frac{2}{n(n-1)} P(h(t)) \right\},$$

where $P \in C^{k+1}(I)$ is an anti-derivative of p_{n-1} , and c is a non-zero constant. For

$$F(h) := \exp \left\{ \frac{-2}{n(n-1)} P(h) \right\} \in C^{k+1}(I)$$

and

$$g(t) := c |f(t)|^{(1-n)/2} \exp \left\{ \frac{-2}{n(n-1)} \int_{t_0}^t q_{n-1}(s) ds \right\} \in C^{k+2}(\mathbb{R})$$

we get

$$(12) \quad F(h(t)) h'(t) = g(t),$$

where $F(h) > 0$ for $h \in I$, and $g(t) \neq 0$ for $t \in \mathbb{R}$. By integrating (12) from $t_0 \in I$ to t , we obtain

$$(13) \quad S(h(t)) - S(h(t_0)) = \int_{t_0}^t g(s) ds =: G(t),$$

where $S'(h) = F(h) > 0$, $S \in C^{k+2}(I)$, $G'(t) = g(t)$, $G \in C^{k+3}(\mathbb{R})$. Denote $J := S(I)$. For the inverse function S^{-1} to S we have $S^{-1} \in C^{k+2}(J)$ and $S^{-1}(J) = I$.

Now, we shall suppose that the functions f and q_{n-1} are chosen in such a way that G maps \mathbb{R} onto \mathbb{R} . This can be achieved e.g. by taking $f \equiv 1$ and $q_{n-1} \equiv 0$, when

$$G(t) = \int_{t_0}^t g(s) ds = \int_{t_0}^t c ds = c(t - t_0), \quad c \neq 0.$$

Then

$$S^{-1}(G(t) + S(h(t_0)))$$

is defined for those $t \in J$ for which $G(t) + S(h(t_0)) \in J$. Thus we can write

$$h(t) := S^{-1}(G(t) + S(h(t_0)))$$

for $t \in J$. We can see that $h \in C^{k+2}(J)$, $dh(t)/dt = g(t)/S(h(t)) \neq 0$ on J , $h(J) = I$, and, due to (13), h satisfies the relation (5) with the given $p_{n-1} \in C^k(I)$, $q_{n-1} \in C^\omega(J)$, and $f \in C^{k+2}(J)$ complying with (4) (e.g. $q_{n-1} = 0$ and $f = 1$).

If $p_{n-1} \in C^k(I)$, $k \geq n-1$, then there exists $h \in C^{k+2}(J)$, $k+2 \geq n+1$, such that $f = 1$ and $q_{n-1} = 0$ on J , i.e. $f \in C^\omega(J)$ and $q_{n-1} \in C^\omega(J)$. Moreover, due to Lemma 4 with $k+2$ instead of r , $q_{n-2} \in C^{k+2+n-2-n-1}(J) \cap C^{k+2-2}(J) \cap C^k(J) \cap C^{k+2-1}(J) \cap C^{k-1}(J) = C^{k-1}(J)$. Q.E.D.

Theorem 2. Let (2) be globally transformable into (3), let i be a positive integer, $1 \leq i \leq n-1$.

Then $p_{n-1} \in C^{i-1}(I)$, $p_{n-2} \in C^{i-1}(I)$, ..., $p_{i+1} \in C^{i-1}(I)$ if and only if

$$q_{n-1} \in C^{i-1}(J), \quad q_{n-2} \in C^{i-1}(J) \dots, \quad q_{i+1} \in C^{i-1}(J).$$

In this case

$$p_i \in C^{i-1}(I) \quad \text{if and only if} \quad q_i \in C^{i-1}(J),$$

and, moreover, for $0 \leq k \leq i-2$ we have

$$p_i \in C^k(I) \setminus C^{k+1}(I) \quad \text{if and only if} \\ q_i \in C^k(J) \setminus C^{k+1}(J), \quad \text{i.e. the pair } (i, k) \text{ is an invariant.}$$

Proof. Due to Lemma 1, we may put $r = n$ in Lemma 4. If $p_{n-1} \in C^{i-1}(I)$, ..., $p_{i+1} \in C^{i-1}(I)$ for some i , $1 \leq i \leq n-1$, then owing to (8),

$$q_{n-1} = B_{n-1,n} + B_{n-1,n-1} p_{n-1}(h) \in C^{n-2}(J) \cap C^{n-1}(J) \cap C^{i-1}(J) = C^{i-1}(J), \\ q_{n-2} = B_{n-2,n} + B_{n-2,n-1} p_{n-1}(h) + B_{n-2,n-2} p_{n-2}(h) \in \\ \in C^{n-3}(J) \cap C^{n-2}(J) \cap C^{i-1}(J) \cap C^{n-1}(J) \cap C^{i-1}(J) = \\ = C^{i-1}(J) \quad \text{because } n-2 \geq i+1, \\ \dots$$

$$\begin{aligned}
q_{i+1} &= B_{i+1,n} + B_{i+1,n-1} p_{n-1}(h) + B_{i+1,n-2} p_{n-2}(h) + \dots \\
&\quad \dots + B_{i+1,j} p_j(h) + \dots + B_{i+1,i+1} p_{i+1}(h) \in \\
&\in C^{n-(n-i-1)-1}(J) \cap C^{n-(n-1-i-1)-1}(J) \cap C^{i-1}(J) \cap \\
&\quad \cap C^{n-(n-2-i-1)-1}(J) \cap C^{i-1}(J) \cap \dots \\
&\quad \dots \cap C^{n-(j-i-1)-1}(J) \cap C^{i-1}(J) \cap \dots \\
&\quad \dots \cap C^{n-1}(J) \cap C^{i-1}(J) = C^{i-1}(J),
\end{aligned}$$

because $0 < i \leq n - 1$. Under these assumptions, if also $p_i \in C^k(I)$ for some k , $0 \leq k \leq i - 1$, then $q_i \in C^k(J)$. In fact,

$$\begin{aligned}
q_i &= B_{i,n} + B_{i,n-1} p_{n-1}(h) + B_{i,n-2} p_{n-2}(h) + \dots + B_{i,i} p_i(h) \in \\
&\in C^{n-(n-i)-1}(J) \cap C^{n-(n-1-i)-1}(J) \cap C^{i-1}(J) \cap \dots \cap C^{n-1}(J) \cap C^k(J) = \\
&= C^k(J), \text{ since } k \leq i - 1.
\end{aligned}$$

However, if $p_{n-1} \in C^{i-1}(I), \dots, p_{i+1} \in C^{i-1}(I)$ and $p_i \notin C^{k+1}(I)$ for some k , $0 \leq k \leq i - 2$, then also $q_i \notin C^{k+1}(J)$. Otherwise, due to the fact that $B_{ii} \neq 0$, $p_i(h)$ can be expressed as a linear combination of functions of the class $C^{k+1}(J)$ with coefficients of the class C^{i-1} , where $k + 1 \leq i - 1$. Hence $p_i \in C^{k+1}(I)$ which contradicts our assumption.

The converse is true because of the symmetry of our assumptions on the equations (2) and (3). Q.E.D.

Corollary 2. *If (2) is globally transformable into (3) and $p_{n-1} \in C^{n-2}(I)$, $p_{n-2} \in C^{n-3}(I), \dots, p_j \in C^{j-1}(I)$, then $q_{n-1} \in C^{n-2}(J)$, $q_{n-2} \in C^{n-3}(J), \dots, q_j \in C^{j-1}(J)$ for $0 < j \leq n - 1$, and conversely. Of course, we always have $p_0 \in C^0(I)$ and $q_0 \in C^0(J)$.*

This follows immediately from Theorem 2 if we put successively $i = n - 1$, $i = n - 2, \dots, i = j$.

Example 1. $y''' + p_2(x) y'' + p_1(x) y' + p_0(x) y = 0$ on I with $p_2 \in C^0(I) \setminus C^1(I)$ cannot be globally transformed into

$$z''' + q_2(t) z'' + q_1(t) z' + q_0(t) z = 0 \quad \text{on } J \text{ with } q_2 \in C^1(J).$$

Theorem 3. *Let $p_{n-1} \equiv 0$ and $p_{n-2} \in C^{n-2}(I)$ in equation (2). Let equation (3) with $q_{n-1} \equiv 0$ on J be globally equivalent to (2). Then $q_{n-2} \in C^{n-2}(J)$. Moreover, there exists a global transformation of (2) into (3) with $q_{n-2} \in C^\omega(J)$, in particular with $q_{n-2} = 1$ on J .*

Proof. Due to Corollary 1, if $p_{n-1} \equiv 0$ and $q_{n-1} \equiv 0$ then (7) holds for a global transformation (1) of (2) into (3). According to Lemma 1, we have $f \in C^n(J)$. Hence $h \in C^{n+1}(J)$. Corollary 1 gives

$$q_{n-2}(t) \left/ \binom{n+1}{3} \right. = \frac{1}{2} h'''(t)/h'(t) - \frac{3}{4} h''^2(t)/h'^2(t) + p_{n-2}(h(t)) h'^2(t) \left/ \binom{n+1}{3} \right.$$

Since $p_{n-2} \in C^{n-2}(I)$, $h''' \in C^{n-2}(J)$, we have $q_{n-2} \in C^{n-2}(J)$. Moreover, for $d := 1/\binom{n+1}{3}$ and $p = p_{n-2}$, Lemma 5 guarantees the existence of an interval $J \subset \mathbb{R}$ and a function $h \in C^{n+1}(J)$ satisfying the above equation for $q_{n-2} = 1$. If we put $f := |h'|^{(1-n)/2}$, then the transformation (1) globally transforms equation (2) into equation (3) with $q_{n-1} \equiv 0$ and $q_{n-2} \equiv 1$ on J . Q.E.D.

Example 2. $y''' + p_1(x)y' + p_0(x)y = 0$ on I with $p_1 \in C^1(I)$ cannot be globally transformed into $z''' + q_1(t)z' + q_0(t)z = 0$ on J with $q_1 \in C^1(J)$.

References

- [1] O. Borůvka: Linear Differential Transformations of the Second Order, The English Univ. Press, London 1971.
- [2] M. Čadek: Form of general pointwise transformations of linear differential equations, Czechoslovak Math. J. 35 (110) (1985), 617–624.
- [3] F. Neuman: Geometrical approach to linear differential equations of the n -th order, Rend. Math. 5 (1972), 579–602.
- [4] F. Neuman: A note on smoothness of the Stäckel transformation, Prace Mat. WSP Krakow 11 (1985), 147–151.
- [5] P. Stäckel: Über Transformationen von Differentialgleichungen, J. Reine Angew. Math. (Crelle Journal) 111 (1893), 290–302.
- [6] J. Suchomel: Preobrazovanie linejnych odnorodnych diferencial'nych uravnenij vysshego porjadka, Arch. Math. (Brno) 13 (1977), 41–46.

Author's address: Mendlovo nám. 1, 603 00 Brno, Czechoslovakia (Matematický ústav ČSAV).